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What is the result of 2x + 3x?

5x^2
5x ✓
6x
5

The expression 2x + 3x combines like terms, resulting in a simplified expression. The final result is 5x.

Solve for x: x + 5 = 12.

5
6
7 ✓
8

To solve for x in the equation x + 5 = 12, you need to isolate x by subtractinging 5 from both sides of the
equation.

Explain why a variable is used in algebraic expressions.

Variables are used to represent unknown values or quantities that can change, allowing for
generalization and formulation of equations.
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Describe the process of solving a linear equation with one variable.

To solve a linear equation, isolate the variable on one side by performing inverse operations,
such as addition, subtraction, multiplication, or division.

How do you determine if a relation is a function?

A relation is a function if each input (x-value) has exactly one output (y-value). This can be tested
using the vertical line test on a graph.

Describe how to simplify a complex rational expression.

Simplify a complex rational expression by finding a common denominator, combining terms, and
reducing the expression by cancelizing common factors.

Explain the process of rationalizing the denominator of a radical expression.
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To rationalize the denominator, multiply the numerator and denominator by a conjugate or
appropriate radical to eliminate the radical in the denominator.

Which of the following are solutions to the inequality x - 2 > 3?

4
5 ✓
6 ✓
7 ✓

To solve the inequality x - 2 > 3, we add 2 to both sides, resulting in x > 5. Therefore, any value greater
than 5 is a solution to the inequality.

What is the value of log_{10} 1000?

1
2
3 ✓
10

The logarithm of a number is the exponent to which the base must be raised to produce that number. In
this case, log_{10} 1000 equals 3 because 10 raised to the power of 3 equals 1000.

What is √64?

6
7
8 ✓
9

The square root of 64 is the number that, when multiplied by itself, equals 64. This number is 8.
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What is the degree of the polynomial 3x^4 + 2x^2 - x + 5?

1
2
3
4 ✓

The degree of a polynomial is determined by the highest power of the variable in the expression. In the
polynomial 3x^4 + 2x^2 - x + 5, the highest power is 4, making the degree of the polynomial 4.

Simplify (x^2 - 4)/(x - 2).

x + 2 ✓
x - 2
x^2 - 4
1

The expression (x^2 - 4) can be factored as (x - 2)(x + 2), allowing us to simplify the fraction by
cancelation with the (x - 2) in the denominator.

Which of the following can be factored from x^2 - 16?

x + 4 ✓
x - 4 ✓
x^2 + 16
x^2 - 4

The expression x^2 - 16 can be factored as (x - 4)(x + 4), which is a difference of squares. This means
that the factors of the expression are x - 4 and x + 4.

Which of the following are true for log_b (mn)?

log_b m + log_b n ✓
log_b m · log_b n
log_b m - log_b n
log_b (m+n)

The property of logarithms states that log_b (mn) = log_b (m) + log_b (n), meaning the logarithm of a
product is the sum of the logarithms of the factors.
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Which of the following are true about the function f(x) = 3x + 4?

It is a linear function. ✓
The slope is 3. ✓
The y-intercept is 4. ✓
It is a quadratic function.

The function f(x) = 3x + 4 is a linear function with a slope of 3 and a y-intercept of 4, indicating it
increases steadily as x increases.

Which of the following are equivalent to (1/x) + (1/y)?

(x+y)/(xy) ✓
(y+x)/(xy) ✓
(1/xy)
(x-y)/(xy)

The expression (1/x) + (1/y) can be rewritten as (y + x) / (xy), which is a common way to combine
fractions with different denominators. Therefore, the equivalent expression is (x + y) / (xy).

Explain the process of factoring a quadratic polynomial.

To factor a quadratic polynomial of the form ax^2 + bx + c, first identify two numbers that multiply
to ac (the product of a and c) and add to b (the coefficient of x). Then, rewrite the middle term
using these two numbers, factor by grouping, and simplify to obtain the product of two
binomials.

Which of the following is a variable?

7
y ✓
12
3.14
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A variable is a symbol or name that represents a value that can change. In programming and
mathematics, variables are used to store data that can be modified during execution or calculation.

What is the range of the function f(x) = x^2 for x in the set of all real numbers?

All real numbers
Non-negative real numbers ✓
Positive real numbers
Negative real numbers

The range of the function f(x) = x^2 is all non-negative real numbers, starting from 0 and extending to
positive infinity. This is because the square of any real number is always greater than or equal to zero.

Which of the following are equivalent to x^2 · x^3?

x^5 ✓
x^6
x^{2+3} ✓
x^8

The expression x^2 · x^3 can be simplified using the laws of exponents, specifically the product of
powers rule, which states that when multiplying like bases, you add the exponents. Therefore, x^2 · x^3
is equivalent to x^(2+3) = x^5.
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